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ji;15pe: B6/12/89

sd o @ 3 ¥ #o a,
peried 1 -T+374 #.145 1.332 2.276 26 7 3.8
period 2 -0.446 F.465 [F.644 7 2.914 26 18 1/8
period 3 g.432 B.119 §.448 5 3.552 27 23 1.5
period 4 1.188 B.191 2.117 5 3.988 34 14 @57
perioed 5 1.535 #.838 1.535 4 4.175 25 34 1.8
period 6 2.559 F.1580 2.554 4 4.950 48 33 HB.3
period 7 3.804 @.899 3.806 7 S.164 29 27 2.5
period 8 3.513 §.287 3.525 3 5.433 28 33 2.8
pericd 9 3.800 §.@820 3.888 2 5.488 38 27 1.8
period 18 3.478 F.349 3.496 6 4.918 28 37 B.2
period 11 2.1068 §.888 2.1808 1 3.309 19 24 1\/8
period 12 2.04F @.088 2.940 1 3.888 g 28 B.@
period 13 #.500 F.08F £.5008 1 1.228 6 6 £.8
period 14 2.126 1.488 2.541 2 2.608 11 249 1.8
period 15 2.568 §.288 2.568 2 2.808 1.9 31 5.9
Po = "rational expectations" equilibrium.

Pel= 3.68 P.2= 3.36 Pg3= 3.12 Pg4= 2.88 P.5= 2.64
Vtl= 9.88 V12= 8.4F V3= 7.88 Vt4= 7.20 V5= 6.60
Vil= §.88 Vi2= §.89 Vi3= §.99 Vi4= §.88 Vi5= §.98
PeE= 2.468 Pe7= 2.16 PeB= 1.92 Pe9= 1.68 Pelﬁ= 1. 44
Vt6= 6.88 Vt7= 5.4 V8= 4.8F V19= 4.2 V+if= 3.68
Vi6= F.B8 Vi7= H.88 ViB= F.8F Vi9= F.5F Vilg= §.609
Pe11= 1.28 Pe12= #.98 Pe13= Bg.72 Pe14= A.48 Pel5= .24
Vell= 3.88 Vt12= 2.49 V113= 1.88 V114= 1,28 V115= 5,60
Vill= @.68 Vil2= @F.00 Vil3= G.08 Vil4= §.00 Vil5= B§.80
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jij;15pe: B6/13/80

#b

#o

q
peried 1 -P.488 1.768 1.746 2 3.288 51 6
period 2 .87 B.405 @.968 3 4,238 39 12
period 3 1.080 F.858 1.881 2 4,288 48 26
period 4 1.920 §.6668 1.925 1 3.988 21 15
period S5 1.182 F.288 1.137 5 d.742 28 19
period & B.808 P.088 @.889 1 3.280 19 15
period 7 g/8 B8 B/8 B B/B 9 s
period B8 58 BB B8 g B/8 23 =
period 9 F.518 8.9 @.518 1 2.198 5 'z
period 18 8/8 a8 8,8 g B/ 1 1
period 11 @.98F @.06F @#.988 1 2.188 6 2
period 12 B/85 BB Bsg B B2 1 15
peried 13 [£.330 B.PB58 H.334 2 1.858 4 B
period 14 F.27% .68 §.278 1 B.758 4 13
pericd 15 @.239 #.068 85,230 1 8.479 18 17
Pe = "rational expectations" equilibrium.
Pal= 3.68 Pg2= 3.36 P,3= 3.12 P_4= 2.88 P_5=
Vti= 9.88 Vt2= 8.48 V3= 7.88 Vt4= 7.2 V5=
Vil= #.89 Vi2= .80 Vi3d= B.88 Vid= §.55 Vi5=
Pef= 2.48 P.7- 2.16 P.8= 1.92 P_9= 1.68 P_15-=
Vt6= 6.08 V+7= 5.4F VtB= 4.8 Vt9= 4,20 V+18=
Vie= B.88 Vi7= £.88 Vig= F.8F8 Vi9= F.68 Vilg=
Pell= 1.28 P_12= .96 P,13= .72 P 14= §.48 P.15=
Veil= 3.88 Vrl2= 2.48 Vt13= 1.80 Vrl4= 1.28 Vt+15=
Vill= F.8F Vilz= §.860 Vi13= §.88 Vil4= §.85 Vils5=
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6.60
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1. 44
3.68
g.648

g.24
g.69
.88
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Seorun 2

j1;15pe: B6/14/98

P sd o q p *b ¥o a.
period 1 B.833 B.847 B.HS58 3 3.633 36 35 7.9
period 2 £.285 §.935 @§.298 2 3.565 51 11 1.8
period 3 BF.355 g.@25 @.356 2 3.475 37 28 178
period 4 F.515 B.B32 @E.516 4 3...395 22 34 1.8
period 5 F.548 §.038 G.541 2 3.189 14 25 1.9
period 6 B.737 B.839 @.738 3 3.132 12 26 1/8
period 7 5.799 g.988 @.798 1 2.958 7 46 1/8
pericd & B.53F5 8.8 B.538 1 2.458 8 38 B.8
period 9 B.87¢ B.8PH @.B874 1 2.558 7 18 g.8
period 18 F.558 B.@FF @.558 1 1.984 4 15 p.9
period 11 -§.263 §.258 (.368 4 #.938 18 18 g.3
pericod 12 4.835 §.085 4.035 2 4. 985 16 1 B.8
period 13 1.77F 1.498 2.314 2 2.498 18 6 #.9
period 14 B.320 §.288 B§.377 2 g.808 22 18 8.8
period 15 §.163 §.823 @.164 4 .483 186 19 3.8

Pe = "rational expectations" equilibrium.

Pe1= 3.68 Pe2= 3,386 Pe3= 3. 112 Pe4= 2.88 Pe5= 2.5%
Vti= 9.08 V+2= 8.48 Ve3= 7.88 Vt4= 7.20 V5= 6.68
Vil= B.88 V2= F.88 Vi3= B.08 Vi4a= §.55 V5= g.98
Pe6= 2.48 Pe7= 2.18 PEB= 1.92 Pe9= 1.68 Pe15= 1.44
Vt6= 6.8 Vt7= 5.4 V+B8= 4.88 V19= 4.20 V+1F= 3.68
Vié= @F.86 Vi7= §.8F ViB= F.58 Vi9= F.98 Vi1g= £.506

Pell= 1.28 Pe12= g.96 P313= g.72 Pa14= 8.48 Pe15= B.24
Vetll= 3.88 Vt12= 2.48 Vt13= 1.808 Vt14= 1.28 Vti15= £.68
Vill= §.08 Vi12= P.BE Vi13= §.88 Vil4= §.8F Vii5= §.80
-DATA+ see statistics using “private info" price (P*)
-Back+ index, -Shift Help+ replot
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Seaon f

jis15pe: @6/15/88

Py sd o P #p  #o

a,
period -B.288 B.208 0.283 3.488 26 19 g

1
period 2 B.098 B.918 @.891 3.458 29 23 1.8
peried 3 B.248 B.@008 ©.248 3.368 11 21 1/8
period 4 B.2790 B.880 B.278 3.158 24 13 18
periecd 5 .39 1.634 1.679 3.938 19 29 18
period 6 F.650 B.808 §.658 3.858 9 15 1.8
peried 7
period & P.z280 A.888 @.288 2.288 7 34 18

1.658 14 18 F.8
1.745 21 14 1.8
1.485 18 11 3.9
1.275 16 26 3.9
1.818 17 24 1/8
B.927 & 18 1/B
B.528 5 7 1/F

q
2
2
i
1
3
1
B.993 B.187 B.142 3 2.253 13 21 B.5
1
period 9 -§.0930 §.888 §.03F 1
peried 18 B.395 #.P85 5,385 2
period 11 §.285 #.282 §.4081 4
period 12 #.315 #.818 §.316 4
period 13 §.295 F.614 §.299 3
period 14 §.447 §.69F B.45¢6 3
period 15 #.288 §.80F §.288 1

Po = "rational expectations" equilibrium.

Pel= 3.68 Pe2= 3.36 FES= 3.2 Pe4= 2.88 PE5= 2.64
Vel= 9.8 Vt2= 8.49 V3= 7.88 Vt4= 7.20 V5= 6.68
Vil= F.88 Vi2= @.880 Vi3= F.88 Vi4= F.BF Vi5= 0,90

Peﬁ= 2.44 Pe?= 2.16 Pe8= 1.92 Pe9= 1.68 Pelﬁ= 1.44
Vt6= 6.8F Vt7= 5.45 VtB= 4.8 Vt9= 4.2F8 VtiB= 3.68
Vie= H.80 Vi?= .98 ViB= F.88 Vi9= F.6F8 Viif= .05

Pell= 1.28 Po12= .96 Po13= £.72 P_14= £.48 P.15= §.24
Vetll= 3.88 Ve12= 2.40 V113= 1.88 Vt14= 1.20 V115= £.68
Vill= F.86 Vi12= §.86 Vi13= F.08 Vild4= F.88 Vil5= §.80
-DATA+ see statistics using "private info" price (P%)
-Back+ index, -Shift Help+ replot
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Bt Segion S

ji;15pe: B6/16/80

Pd sd LY, g P #  #o
period 1| -§.188 F.808 @§.188 1 3.5688 19 19
period 2 5/8 B/ B8 B g/8 7 2
pericd 3 -8 8,8 g/8 a B8 9 8
period 4 g.119 g.8968 @.118 1 2.99¢9 g 19
period 5 g/8  B/9 570 - /9 9 3g
period 6 B.2608 B.858 B.280 1 Z2.608 g 9
period 7 58 Bs8 88 8 5/8 5 6
period 8 g/8  B/8 B/8 B B8 & 7
pericd 9 B8 BB g8 B B/ 3 9
pericd 1§ 5-8 B8 8,8 g B5/8 12 6
period 11 g8 Brg B8 b1 B8 18 9
period 12 @.§78 F.808 £.878 1 1.038 18 12
peried 13 F.119 F.9688 F.1158 3 B.838 23 47
period 14 B.8575 §.880 G.878 1 B.558 (<] 15
period 15 g8 a,g g8 a g8 2 11
Po = "rational expectations" equilibrium.
Pel= 3.68 P.2= 3.36 P.3= 3.12 P_4= 2.88 P_5-
V+i= 9.88 V+z= 8.4 V3= 7.88 Vtd4= 7.28 V5=
Vil= .88 Vi2= F.80 Vi3= H.58 Vid4= 5.8 VisS=
Pub= 2.48 P_7= 2.16 P_B= 1.92 P_9= 1.68 P_18=
Vt6= 6.88 Vt7= 5.4 Vt8= 4.80 Vt9= 4.2 Vti1g=
Vib= F.08 V7= B.88 ViB= F.80 Vi9= §.58 Viif=
Pe11= 1.28 Pe12= B.96 Pel3= B.72 Pe14= 7.48 Pe15=
Vtil= 3.88 Vt+12= 2.4 V+13= 1.8F Vrid4= 1.28 V+15=
Vill= 92.858 Vile= F.80 Vil3= B5.088 Vil4= @.80 Vil5=

2.64
6.60
5.089

1.44
3.68
769

7,24
B.68
g.98

-DATA+ see statistics using “private info" price (P%)
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ji;15pe: B6/19/88

Pqd sd o q P # #o a,
period 1 -§.863 §.134 F.148 4 3.538 15 14 F.8
period 2 B8 B/B B8 I5j B/8 9 7 8B/8
period 3 g8 B/8 0 g I By 14 18 @#-/8
period 4 -§.139 B.080F &.138 1 2.758 17 11 1/8
period 5 B.118 §.965 F.118 1 2.758 14 7 1/8
period & B.298 §.088 B.298 1 2.698 B 4 1/8
period 7 B.199 B.BEA B.198 1 2.358 15 8 1/8
period 8 5.578 F.361 @.675 3 2.498 38 15 #A.5
periocd 9 B8.327 §.869 B.327 3 2.887 28 31 1/8
pericd 18 B.395 §.885 F.395 2 1.835 28 12 1.0
periced 11 §.38F §.541 §.383 3 1.589 17 19 2.9
pericd 12 #.373 B.547 §.376 3 1.333 14 24 2.8
periecd 13 §.519 §.83F HF.511 2 1.238 15 158 1/8
period 14 §.415 H.653 F.418 4 g.895 31 26 1.8
pericd 15 §.498 .841 #.499 4 BF.738 22 4 g.8
Pe = "rational expectations" equilibrium.

Pel= 3.68 P.2= 3.36 P3= 3.12 P_4= 2.88 P,5= 2.64
Vtl= 9.8F Vt2= B8.48 Vt3= 7.88 Vt4= 7.20 V5= 6.68
Vil= g.88 Vi2= @.88 Vi3d= F.8F8 Vid4= §.88 Vi5= 5.58
Pe6= 2.48 Pe7= 2. 16 Fe8= 1.92 Pe9= 1.68 Pelﬂ= 1.44
Vté= 6.8 V+7= 5.48 VtB8= 4.80 V19= 4.20 V+18= 3.68
Vib= G.80 Vi7= G.5F Vi8= F.85 Vi9= F.85 Viig= .80
Pe11= 1.28 Pelz= 7,96 Pe13= g.72 Pe14= B.48 Pe15= g.24
Veil= 3.8 Vt12= 2.46 V+13= 1.88 Vtl4= 1.28 Vti5= P.68
Vill= .87 Vi12= @.80 Vil3= F.88 Vild4= B.8F Vils5= §.88

-DATA+ see statistics using “private
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